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De
P
Cio
hon
—
‘l’ov'B-\
ble
As
SC
*—

A
ny
0
r K50
N
S
1k
ko)
b\e
Asser

Y



)) Why do we charge W
Depreciation..??

Benelit 12M )

Concept of Depreciation /

Tangible Assets are assets that have a|physical substance|i.e, they can be seen and

touched, held for use in the production or supply of goods or services, for rental to

others, or for administrative purposes. Useful life of tangible asset is based on

expected usage. Property, plant and equipment are tangible items that:

(a) are held for use in the production or supply of goods or services, for rental to
others, or for administrative purposes; and

(b) are expected to be used during more than a period of twelve months.
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These are also called fixed assets in common parlance. When a fixed asset is
purchased, it is recorded in books of account at its original or acquisition/purchase
cost. However fixed assets are used to earn revenues or save costs for several
accounting periods in future with the same acquisition cost until the concerned fixed
asset is sold or discarded. For example, acquisition of a machinery expected to be in
use for 10 years in the production of finished goods will earn revenues over the next
10 years. Similarly, an ATM machine installed by a bank will result in cost savings over
the expected life of such ATM machines for the bank in terms of not requiring to
employ personnel to dispense cash for customers. Since the life of such assets exceeds
one year, it is therefore necessary that a part of the acquisition cost of such fixed
assets be treated or allocated as an expense in each of the accounting period in which
the asset is utilized.
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Nhg do we thraq_ qu"..(

The amount or value of fixed assets allocated in such manner to respective accounting
period is called depreciation. Value of such assets decreases with passage of time
mainly due to following reasons.
Wear and tear due to its use in business
& Efflux of time (even when it is not being used)
\}./ Obsolescence due to technological or other changes
4. Decrease in market value
5. Depletion mainly in case of mines and other natural reserves
[t is important to account for value of portion of property, plant and equipment
utilized for generating revenue during an accounting year to ascertain true income. In
other words, against the income/cost savings generated during a period, it is essential
to book a portion of the cost of the asset utilized in generating such income/cost
savings. This portion of cost of Property, Plant & Equipment allocated to an accounting
year is called depreciation.



D% Factors in the Measurement of Depreciation

Estimation of exact amount of depreciation is not easy as it involves lot of estimation.
Generally following factors are taken into consideration for calculation of
depreciation.

1. Cost of asset including expenses for installation, commissioning, trial run etc.

2. Estimated useful life of the asset (both in terms of time & also utility /units).
3. Estimated scrap value (if any) at the end of useful life of the asset.

The above mentioned factors can be explained, in detail, as follows
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Cost of Property, Plant and Equipment comprises:

(a) its purchase price, including non-refundable import duties and purchase taxes,
after deducting trade discounts and rebates.

(b) any cost directly attributable to bring the asset to the location and condition
necessary for it to be capable of operating in a manner intended by the enterprise.

(c) the initial estimate of the costs of dismantling, removing, the item and restoring
the site on which an asset is located.

Examples of directly attributable costs are:

(a) cost of employee benefits arising directly from acquisition or construction of an
item of property, plant and equipment.

(b) cost of site preparation
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(c) initial delivery and handling costs

(d) installation and assembly costs

(e) cost of testing whether the asset is functioning properly, after deducting the net
proceeds from selling the items produced while testing (such as samples produced
while testing)

(f) professional fees e.g. engineers hired for helping in installation of a machine

Thus, all the expenses which are necessary for the asset to bring it in condition and

location of desired use will become part of cost of the asset. However, following

expenses should not become part of cost of asset:

(a) costs of opening new facility or business, such as inauguration costs;

(b) cost of introducing new product or service (for example cost of advertisement or
promotional activities).
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(c) cost of conducting business in a new location or with a new class of customer
(including cost of staff training); and
(d) administration and other general overhead costs.

Once an asset has been brought to its intended condition and location of use, no cost
should be recognized as part of cost of the asset unless there is major repair or
addition which increases the useful life of the asset or improves the production
capacity of the asset. Accordingly, cost incurred while an item is capable of operating
in intended manner but it is not yet put to use or is used at less than full capacity
should not be capitalized as part of cost of the asset. Similarly, cost of relocation of an
asset should not be capitalized.
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Any additions made to a particular item of property, plant and equipment after it is
initially put to use are depreciated over the remaining useful life of the asset. Any
addition or extension which has a separate identity and is capable of being used after
the existing asset is disposed of, is accounted for separately. Therefore, it is important
to maintain an asset register capturing asset wise details of cost, rate of depreciation,
date of capitalization etc. All these details need to be captured for any additions to
existing assets as well. In the absence of the adequate information, it will be very
difficult to compute depreciation expense year on year. Also, at the time of disposal or

discard of a particular asset, it will not be possible to compute gain or loss on such
disposal/discard.
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QUESTION (lllustration -1 - Page No. 5.11 ICAl Module) Rw’

Jain Bros. acquired a machine on [1st July, 2021 at a cost of X 14,00,000 and spent X
1,00,000 on its installation. The firm writes off depreciation atf 10% p.a. of the original
cost every year. The books are closed on 31st December every year.
Required

YE3mwa2y ka2
Show the Machinery Account and Depreciation Account for the year 2021 and 2022.
7 1f 12m machine Wse— 10T

PUrchase cost 1L Depl 2 Rake (g of or\a&m\ cost
P.a
T Ins i Yy
Tallation I Dalk of parchase — Qllgylr  YE gy §M

COST of Acquistinn  15L YE Ql2i22  12m
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Depn £o —
L4 3€OY
cndi
'\8 2021 15,000,000
' ' A ID°
Depn -fo endi B
| -
| . - X 75,000
Jgec 8 an2122 = 5,0n
VAL
R 1Q7- X Vi
= F1.53,.000

2.
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ch“‘mg Alc Dr. 14,900,000

TO0 Bank Al 14,00,000
mQCh'\mrS Ab Dr. l, m‘ QQQ
TO Bank Al 1,00,000

Depreciation Alc Dr. 75000

To Machinery Alc  73:000
To Oeprcintion Ac  750W

\V

iz
Depweciarion Alc Dr. |,50,000
LS muc,h\ners Alc 11S0,000
PaL Alc Dr. 1,5S0000
To Depweioion Mc  1,SD,000

D(Pn Qlcwiaie — periad /*CO
v
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Moachinery A :J

Date Particulars £ 4

Particulars

E 4

Oll7iA | To Bonk Aic 4,080,000 | 212 B4 Depreciotion Aic 75,000

To Bank Ac 1:00:1000
CInstal\okon exp.) 3W 0 By Balcld 144,255,000

'51m|0® | Y ‘5(@,@

0iltl122.| T Ba\ bld

25000 | 31M2122. | By Drpeciokion Arc 150,000

32129 | QY Bancig 12,75, 000

14,2500 | 425,000




Nepreciarion AliC o

Particulars X Date Particulars £ 4

To Machinery Alkc 75,000 2112.\2) 83 PaL A\c 75,000

75,000 | | 15,000

To C‘)o.ch'\mrg Ak | 1,150,000 | M2122 Ba- Pal Anc 1,50,000

50,000 | 1,509,000




QUESTION (lllustration -2 - Page No. 5.12 ICAl Module) Rw’

Jain Bros. acquired a machine on 1st July, 2021 at a cost of X 14,000,000 and spent X
1,00,000 on its installation. The firm writes off depreciation at 10% p.a. every year.
The books are closed on 31st December every year.

IS+ Qear Dep" — oA

Required /" 293 Year onwards —> RESUCE value
Show the Machinery Account on|diminishing balance method|for the year 2021 and
2022. INDV . RB®
IS+ pear ~-Nalwe of | \5L.(9075L
. 0% = 15,00,000 X 107- X & - Machinery an _
'€ Near Uling i Dlnkiaes on 3!\\;2? - 42500
3N
> Nalue of-vachiney
2nd year Depn = 1425000 xWOL %12 - EIA25N  On AN = 42500 Ol4esh
1-¢ year ending 2 = 222L.5%

312122



Mochinery A :J

Date Particulars £ 4

Particulars

E 4

o7l | To Bonk Alc 14,008,000 31hal 2 By Depreciotion Ac 75,000

To Bank AMc /001000
CInstal\o¥ion exp.) 3 | By Balcld 124,25,0Q0

15,00, Q0D | Y 15,900,000
Oilth122.| T Ba) bid

14,25,000 | 31hQ192 (38 DrPreciaron ARc L42.500
32122 | QY Bancig 12,82,500
14,2500 | 14,25 AR

12,322,500




Nepreciaiion Alic
Particulars X Date Particulars

To Machinery Alc 75,000 211212 (33 PaL A\c

75,000

To “)Qch'mcrs Ak  |,22,.500 | a2 B&PaLA\c.

|, 42,500 |




QUESTION (lllustration -7 - Page No. 5.18 ICAl Module) R\/7’

A firm purchased on 1st January, 2020 certain machinery for X 5,82,000 and spent
X 18,000 on its erection. On July 1, 2020 another machinery for X 2,00,000 was
acquired. On 1st July, 2021 the machinery purchased on 1st January, 2020 having
become obsolete was aucfibned for X 3,86,000 and on the same date fresh machinery

was purchased at a cost of X 4,00,000.
Depreciation was provided for annually on 31st December at the rate of 10 per cent

p.a. on written down value. M Oloil2o S22 + 18000 = £6,00,000
gequired y M2  oneTi120 = Z2,00.009
repare machinery account.

200n M3 ougmna. = E40000

2094 01T Q)

S -£3|3§\0m

NN



Parkcuars ™ Mz M3
COA £G,00,000 X 2.00,000 ¥4,00,000
Dale of Purchagd 01101120 O/ lo7120 o102l
Dok of sale ollo712) - -
Sale value X 3,86/000 - e
d—_—r—— —— —
Olloil2p T© 3112220
Month used 2m Gvro
Deprtc\o.\im ey IGQ‘QQO 0,00 ><
C6Lxinr. x'2h2)| C2L % 107. ¥62),
Nalve of MAChintyy ooNE | £5,40,000 £1,90,000
LI PARE IR\ PAPAY
- Depmo:\m 27,000 € 19,000 £20,000
Qlye 0‘- “\QSQ;M\Q QN DF-0 NN £%,13,000 s (“\L‘K\Q'I-Y\Gh‘).)
\d N X 3,%0:00 —
\0Ss | T H27.00 -

\V



Date

Particulars

E 4

Madchinerv Alc

Date

Particulars

\V,

E 4

5,282,000 |

olloi1120 | To Bank Alc - M 3112120 By Depveciotion Alc M 60,040 |
To Bank Alc —™ 18,000 M2 10,000 70,000
CInstaliotion) 22120 By Baxcid M1 5,40,000
F ' [ i
01{07120| To Bonk Aic -Mm2. | 2.00.000 ™2 _9_°_‘f_2 7.30,000
/00,00 i &,00/000
Ollml2) | Ta Bardb\d 7.30,000 | Qg7 BY Depreciotion Alc = M 27,00
010N | Ty BonkAic - M3 2,090,300 B3 ‘Bonk Alc 386,50
BS LASS Q0 SR O} Asser - PILAK 1,277,000
311129

B9 Depreciation—- M2~ 13,000

M3 2000 | S%WW
By Baleig > |35(,000

| \ \ Y‘\”



Depweciotion Alc Dr. 27,000
O\\01120 mochiners Ac Y. 5,822,000 Ollo7i2: P 0 \/7

To ch,h'mcrs Alc 27,000
10 Bank. Alc 5:&2.000
. Bank Aic or 3,856,000
ch.hu\aa Alc or IR0 LOSS on sale of Asse Atc Ry |,27,000
T0 Banw Atc 13,000 T !\\gd\incra Ate 313,000
mQC‘\‘nCTS Atc 'y -’-Q.CD.OQO
OMoT120  Mackinery Alc BT 2,00,000 10 Banv Agc £:.00,000
Ti 0k A4 2,:00.00
- ¢ 32121 Depwciotion Ate Or 38,000
To Machinery At 38,000
OM2129  Depeciation M @F 70,000
To chhma Ac 0,000 PaL Al o R
TO Detyeclating Al 66,000
P At Dr. 70,00 Preclation

10 (ass on Sie o b AtkHAte) 27000
To Dprciotin At~ TOR0 b



QUESTION (lllustration -3 - Page No. 5.13 ICAl Module) R\/7’

. _ O\Yews Z( 20,000
M /s Akash & Co. purchased a machine for X 10,00,000. Estimated useful life and scrap

value were 10 years and X 1,20,000 respectively. The machine was put to use on

v/ — 9P Y
[112017) onas o 3222
Required 4

Show Machinery Account and Depreciation Account in their books for|2022|by using
sum of‘years)digits method. Year =10 SUM 2 I04J BT +6+5 +X+3+2+1= 55

L L
'Fovmu\ae = NKR O+
S of- 2
D's%'\'r —  ARvoXwn o{‘— WON MRthod = Iox Cwa+Y)
Ntd ISt — CQSY mn | 2
INd - R:::::& | T QRN o 55

g ?



Dep? under sum o} Digt —>

Yolue of Machine as on o)(onN22

()Q/ 10,0008 ¢)1,26,000 ¢) 6,460,000

OWoilt 3
COA 53eor okl

13

B 10,000 © €,40m0

= 860,000

1St Seg( = 10,0000 ™ 1:20,000 %
2017 55
+

\O

20d gear = 10,090,000 (<) 1,20,000
20\ 55

+

rS

2¢d 8(.0' = 10,000,000 &) "20'500‘;( %

20(g 55
+
™ Year = 1\, : - 1,20,
4 Year 0&“()\200&%7
2024 55
-’-

5Hhyeor = 0. G \.9.0.000*6

202\ 55



E 4

Nachinera Afc
Date

\V,

Particulars £ 4

3,60,000 | 31112122

| A\\2\1220

03 Depreciotion Alc
[ 10,000,000 & 1,20,000 %x 5

S5
3% Barcid |2, 80,000

3'600000

*3 160,000

Q|&lm0




QUESTION (lllustration -4 - Page No. 5.14 ICAI Module) ‘\/7:

A machine was purchased for X 30,00,000 having an estimated total working of
24,000 hours. The scrap value is expected to be X 2,00,000 and anticipated pattern of

distribution of effective hours is as follows : , 3""::0"
Year ;— g.oob
1-3 3,000 hours per year 4 z‘.:z
4-6 2,600 hours per year 5 2600
7-10 1,800 hours per year _G, 2:6a0
. \.Soo
Required &  13am
Determine Annual Depreciation under Machine Hour g\ate Method.
1,300

0 1,300



Depreciotion - CoA &) Scrop vYowue No-of
Wder Machine A ROUr
Rowr merhod e used

= X30.00000 &) £2,00.900
Q-le “0\\(8

D ¢Preciatan ?Q“

30,00,000 ™) 200,™0

Sutm = COA () Scrop \alue ;w,

J R
Dep” o0 e
L 1200

.

Year (-3
24,00

Depreciabien for =
Year 4-g

30,00,000 ™) 2:00,%0

= 13,5000 pa foryeor
\12.3

, w000

24,00
Depreciatian for =
Year 7-)q

30,00,000 ™) 2:00,%0

% 2,600 = €£3,03 333 pa o fear
4,56

244,00

.« 1,200 = £2,19,000 PQ ‘FQ\' 8(0"
7.&.8;\Q



QUESTION (lllustration -5 - Page No. 5.15 ICAl Module) i\/7’

A machine is purchased for X 20,00,000. Its estimated useful life is 10 years with a
residual value of X 2,00,000. The machine is expected to produce 1.5 lakh units during
its life time. Expected distribution pattern of production is as follows:

Year Production

1-3 20,000 units per year
4-7 15,000 units per year
8-10 10,000 units per year
Required

Determine the value of depreciation for each year using production units method.



Y

Deprecia¥ion under = COA &) Srap value , No- of weit-
Prauction wait method Onitks Produced
Depreciation for year =  T20
— AR & T2,00,000
- d - O % 20000 = E240000 Pa for year
1,50,000 1; 2.3
‘DWQHW for Jeor = L20.0000 & F2,00,000
o —— * 15,000 = 180,000 p.a for Year
. 4.5,
Depreciation ?orgcor = 20,0000 ® F2,00,000 L
&-19 * 10,000 =

' |50 0000

£‘imlme P‘Q %Y&@
LA



QUESTION (lllustration -6 - Page No. 5.16 ICAl Module) Rw’

M /s Surya & Co. took lease of a quarry on 1-1-2019 for X 1,00,00,000. As per technical
estimate the total quantity of mineral deposit is 2,00,000 tonnes. Depreciation was
charged on the basis of depletion method. Extraction pattern is given in the following

table: 1100,:00:000 M) o
—_— — 3 nes
Year Quantity of Mineral extracted 2:00,00 e~
2019 2,000 tonnes - Depreciotion = F1,00,000
2020 10,000 tonnes — pepweciotion = E5:00,000
2021 15,000 tonnes - Depeciodlen = X 7.50.000
Required

Show the Quarry Lease Account and Depreciation Account for each year from 2019 to
2021.



Quarry (Case Aic D

Particulars X | Date Particulars | z

Olloilig | To Bonk Alc 100,000,000 | 311\21\Gg BY Depreciodion Aic 1,00,000
3h2ng BY Baicld 93,00 000

1,09,90,000 | 1,00,%0 ,OCK

Olld\128 | » Balbld 93,00:000 | 3112120 | By Deprciaton Alc S/00,000
312120 8y Batcly 34.00,000
33,00.000 | 193,00,090 |

Qo112 | Ta Bonbid 94.00,000 31112121 83 Deprciation A 759,000
AM21 | By Banelq &6:50,000

34.00.000 | 34.00.000

Qw22 To Baiblg 26.50,000 *




Particulars

To &\lana leasc A%  1H,00/00D

' 31219

1,00,000

To Q&m«a ey Ate 5.:00,000

- {

3IN12120

Blmom

To Qunvra o Ad 7,50.00

3zl

7.50.00 |




QUESTION (lllustration -8 - Page No. 5.19 ICAI Module) “/7:

"I
On April 1, 2019 Shubra Ltd. purchased a machinery for X 12,00,000. On Oct 1, 2021, a

part of the machinery purchased on April 1, 2019 for X 80,000 was sold for X 45,000

and a new machinery at a cost of X 1,58,000 was purchased and installed on the same

date. The company has adopted the method of providing 10% p.a. depreciation on the
: : NME 31103120 311022

written down value of the machinery. Doy

Required : Show the necessary ledger accounts for the years ended 31st March, 2020

to 2022 assuming that (a) ‘Provision for Depreciation Account’ is not maintained (b)

Provision for Depreciation Account is maintained. . RN — L5H0
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M) - Fary | ™M -Pavt2 n2
Date of purchase | %11,20.000 & ©0.000 1.5 3:000
Cost of Aogquisikon o' lo4lg onokig ollo)21
Dote of sale - ol ho|2 -
sSale volve = 45,00 =
olld&lg To 3no3\2we
MONG e 12w )
DRPrecladiponey | E1,\2,000 ]_i Q00 ><
\alue of machine after D™ £10,08,000 £72,000
O k1M 1O 310319,
a\ue Of madn oM | = s
RVS £ .QTlQQQ #GQ.QQQ

Depn
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M)~ Favri | ™M -Psvt2 n2
Date of purchase | %1/,20.000 & %0.000 1,583,000
st of Acquisifion |  otllo4alg olokig ol1®)2\
Dok of sale - ol 0|2 a8
Sale volve - 45,00 =
o1104121 fTo 23Wo3'22
Moni uxad 1 200 e 6Mm
Depreciadioney | £90,720 123.240) E£7380R 303520
\alue 0% Machine QP(\' ‘D(f'\ FE,16, %0 Z61.560 £1,.50,100 _ 1800
3014 Pov ~ 45,000 —~ 3m420
los
T0}.0epn Hy
PIANDeR | F300500 | =Rz 7300




MachiverQ Aic

4

Particulars X Date Particulars X

alloalig | To Bavik Alc \2,00:000 2\\03120 B8 Depreciotion Aic 120,000
31103120 BS Baiclal 10,860,900

12.,00,000 12,00.000
Ollo4l20| To Balbld 10:20,000 | 3M0221 | BY Deprciation Avc 1,08, 00D
A\aa\21 | BY Baicid 3,72.000

10, 80,000 19:80,000

Silo4\2) | Ta Ba b1d 9,72QN | Ohol2r | BY Depreciatian 3240

N 0I2) | Ty Bank Ak RO By BankAc 45, 0Q

By Loss an Sale o}l ASRtr-PaL | 16,560

3322 | oy DRpreciotion ARc ?_(};'3%2 3%,628

By Bal <Id 3,66:5%0
1, 30,000 1,30.Q00




D epricioriun #ic
Date Particulars X Particulars

31103120| To Machinery Alc (20,000 By PaL Aic

120,000

To mwninerg A | 1108,000 By PaLAlc

OO0

To Macninery Ate | 3,244 BY PaL Al
Ta Madhinery At 3,629

101,60 1,01 R60




NOr M) \/y
/ lie wilhoutr pProx]
Demcnhon

x Machitery Aic Drn —> COA CPurchase

&ucshon with 5 CG. — COA @Sale
PRX . -For Dep?
J‘l' * Depd Alc —> Dr. - POV Rr Depone
= Cr. — PaLAiC #rh
Deph Abe D
TQ Prov - for Depe °
Dr. value of machineyy — —» ¥12,72,000
Cr. &) Proy. for Depn = Z 31420

/ 3,660,580

Bs- Presentation




/,G CoA
Machmery Ate

Particulars X Date Particulars
To Bank Ac 12,00,000 2\103120 | BY Bav¢/d

12,00:000

12:00:0Q0 21103121 (33 Bald(o

\’2|00.000

01104121 | TQ Bal bId 12.,.0Q.000 | Othiol21 3\6 Nuchineg DiSposal AlC

BY Balcid

Q110122| To Bank Al 1 SR:Q00 | 3103122

13,5%,QQ0
0104120 Ty Bl bid 12,7%.Q00




D epricioriun #ic
Particulars X Particulars

To Prov- Por DepAx 120,000 By PaL Aic

1:20,000

To Py - for Beph Ate| 1108:000 By PaLAic

10BN

To Prov-for DephARe| 3,240 BY Pal Al
To Prov-for Beprane 981620

1. 01,R¢0 1,01 R6D




w Cv-
Particulars X Particulars X
To Ba\cld 1,120,000 BY Depreciotion Al 1,200 0

By Depn Aic 11.0%,000
2,28,000 2,228,000
To mochinery __I5 18,440 By Bal bla 2,28,000
))D»SPQSQ\ Afc BS DQPRUOHM Alc 3,240

TO Boveld — | 3 v1,420 QY Depreciakion AR 98,621

3'99'86Q 3.9-9,860
By B bid 3.1,420




Machinery Disposal Aic

Particulars X Date Particulars
Olltol2) | To Madhinery Aic %Q:000 o012 @Y Prev- for DCPM Alc 18,440
BY Bonk Alc 45,000
BY loss on sale o Asset- \6:S60
Ly P2\ Al

%0.:000 80,000

JE- DepNA oy 7 POV for Dep” Ate Br:

TO Prov- For Deph / 0 mt‘h\'qgr“ Dispotal Abe
chhT”“& Oisposa) At O Bank Aic oy.
To[ Moch hery At LOS< 0N Sale o+ ASRY Ry
To MOChinery Disposal Ak
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QUESTION (lllustration -9 - Page No. 5.21 ICAI Module) “/7:

M| =2 CoA 4L
A firm purchased second hand machinery on 1st January, 2019 for X 3,00,000,

subsequent to which X 60,000 and X 40,000 were spent on its repairs and installation,
respectively. On 1st ]uly, 2020 another machinery was purchased for % 2‘20 000. On
1st July, 2021, the first machmery having become outdated was auctloned for
3,20,000 and on the same date, another machinery was purchased for X 2, 50 000. On
1st July, 2022, the secon(i' ‘machinery was also sold off and it fetched X _2,30,000.
Depreciation was provided on machinery @ 10% on the original cost annually on 31st
Dec\e(%ber under the straight line method. SLM
Requnred

Prepare the following accounts in the books of the company: (i) Machinery Account
for the years ending Dec. 31, 2019 to 2022 and (ii) Machmery Disposal Account.
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M) M2 m3
Dale of purchase olloihg GWoT120 Gllo7\2)
Cosy of Aq\l.\$ih'oﬂ & 1,000,000 22,6090 2,500,000
Dok of sale Ollom2i o\o7122 -
sale valie. £3,20000 | £2:32.000 -
Olloilig to 3mahgy
Monit wxd 12m)
Depreciadioney | & 40,000
\alue o{‘_ mMmachine alier | 260,000
0110112 + Q12120
mm"\“kd \2M &M
Depreciakan o £49,000 1300
Value OF madnineny Ofyey
} 3 X 3,20,0090 T 247,090

Depn
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\QY.

M M2 M3
Date of purchase olloi\\g GW\07120 alicN 2)
CosYy of Aq\l.\$ih'oﬂ & 001000 22,6000 £2,50,000
Dok of sale Ollo7121 o\\o7122 o=
SQ\C_ VO‘\.C, IngQ‘QQQ I 2!3010& B
ollonzr +o 3212
MoNiQ 1R 6o 12 <))
Depreciation<y |/ 20000 | /E26000 [ E12S00
Nalue of machine abler Do |/Z3,00m0 | 2,21 000 2,379
14 FQP £ 3,290,000 S -
Profit E 20,000 - -
O1IloIl29 +Q 3lh2i22
Monih Useq 6 | 2w
v P for ©Y 13,000 25000 —rOc
Qlut Qttey Depd . 9 -
50 Q\OQ'QQO E |‘lem

prfit




Date

Particulars

£ 4

Date

Particulars

£ 4

ool 1S

To Bank A\c
To Bonk. A c- Repair
TO Bank Adc~ 1Miod

2:00.000
60,000
£0,000

3\h2ug
31h2)\g

By Depreciaton Alc
By Baicid

“40,000

3 1601000

& ,00,000

&,00,000

To Baivld

TO Baa Alc

2,60:000

2,60,%Q0

MMi12\20
3MN2120

Ry Depreciotion Ale [L.'ﬁgg&

Ba— Balcid

53,000

5) G?& 000

6:20.000

6, 20,00

78 Ba bld
19 Bank At

5 | G.LQQQ
Q\SO(QQQ

onQii 2y
aQIi2)

CNPIPY
1212

BY Depreciotian Al
By Machinevy DISRSI A
BG Depxciatign A
BY Baicly

2S00

26000 +}

20,000
30 mIQOQ

3R.£Q0
438,800

&.:(7,000




Machine Alc :)

Date Particulars X Date Particulars X

o\ol122| To Bal b\d 4,S8500 | oWeTl22 | By Depreciation Alc 13,000
98' machinery DiSpozal Abc | 2,0¥:000

3 2\22 By Depieciotion #fc 25,000
BY Balctd 2,12,800

{2,58,500 4,58,500 |




Dtpvedoion Alc
Date Particulars Date

3218 [T6 Mackinery Atc 312119

3\\2120 | To Madainery A

Mo712) | To Machinery ARc
3N2UY | R Mockinery Me

01107122 1o Mochinery Atc
32122 Tq muahiws Atc




Machine

Disposat Afe

4

Date Particulars X Date Particulars X
o1oTi21 | To NOChme"s Alc 3:00,000 O\W0112) BS Bank Alc 3,20,000
To Profit 00 saie of 20,000
Assey — P\ Alc
3,20 ,000 3,20,000
Otlo7122 | To Madninery Atc | 2,082,000 | aifom22 BY Bonk Atc 2., 30,000
To Pfit onsale 22,000

A Asser - PaL

2,322,090
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QUESTION (lllustration -10 - Page No. 5.24 ICAl Module) “/7:

M) P eye
M/s Anshul & Co. commenced business on 1st January 2017, when they purchased
plant and equipment for X 7,00,000. They adopted a policy of charging depreciation at
15% per annum on diminishing balance basis and over the years, their purchases of

plant have been: WOV

Date Amount X
% 1-1-2018 1,50,000 Mo &Neors
v | 1-1-2021 2,00,000 M2 \03«“'

NI
-On |1-1-2021) it was decided to change the method and rate of depreciation to
straight line basis. On this date remaining useful life was assessed as 6 years for all
the assets purchased before 1.1.2021 with no scrap value and 10 years for the
asset purchased on 1.1.2021. I




Required W

Calculate the difference in depreciation to be adjusted in the Plant and Equipment
Account for the year ending 31st December, 2021.



Nalue of Plant 2 Equipment on  Daie o} change

Pavticulars ™M M2
Date of Purchase o\oili7 oloi(\g
Cost of Acquisition| £ 7,00,000 £ 1,850,000
otjoilty To 32l
Depn ¢y T1,Q85:QQ0 ><
Nalte qlter Bepn ¥5,95,Q00
Onanliy to Mi2ng
Depn QY 39250 Sk ag
Value abter Dy £5,05,15 L
Ol 4 3219 \Q A0S
A 1SS :os' 3TS
Nalue after Dep? L 4,29,%%1 .05,
AQloN2W 0 2129
DEPM Cy £Q4,482 16,2356
VOle Qe Deph | E3,65, 404 E2,\19

Y



Depn far the Jer 209,
Lie atlon2y 3\\12]9.\]

= M= 3,65,404 ¢) o
&

M1z %2119 0o
6

M3= 2,00.00 -0
N ]

60,30\
i'e \S', 53
i-Q Q-Q.m

Y



Date

Particulars

Particulars

olon

oY1\o\l2y

TO Bal bld
C265404 % 92119)

To Bank Ac

83 Dcpw.c.io.Hon Alc
8y Barcld




QUESTION (lllustration - 11 - Page No. 5.25 ICAI Module) V\/?:

A Machine costing X 6,00,000 is @apreciate@on straight line basis, assuming 10 years
working life and Nil residual value, for three years. The estimate of remaining useful
life after third year was reassessed at 5 years.

Required £84.000 Deppa - 6000 o o
Calculate depreciation for the fourth year. e’:f: % (3
= £€0,000 £ -
. DQ.P“ S = ‘P.Q.Q.QQQ &0 S
Jre 5 Deefl Bt = so000x2
for 3\\3eor _
= TyWL.X0 P.-c = 1,300



> |Revaluation of Property, Plant and Equipment

After recognizing an asset initially, the asset whose fair value could be reliably

measured could be carried at the revalued amount, being the fair value at revaluation

date and reduced by successively accumulated depreciation and successive

accumulated impairment losses (permanent decline in value) (if any). If an entity opts

for revaluation:

(a) Revaluations must be made at adequate intervals (say yearly) for ensuring that
carrying amount doesn’t differ substantially from that which would be determined
if fair value at end of the reporting period is used

(b) In case an item of PPE is revalued, whole class of such PPE to which such asset
belongs should be revalued



Y

(c) In case the carrying amount of an asset increases due to revaluation, such
increase should be credited to revaluation surplus and should be accumulated
in equity. However, such increase should be recognized in Profit and Loss
statement to the extent of reversal of a previous decrease of that asset that was

recognized in the Profit and Loss statement.
(d) In case the carrying amount of an asset is decreased due to revaluation, such

decrease should be recognized in the Profit and Loss account. However, such
decrease should be debited to the revaluation surplus to the extent of reversal
of a previous increase that was recognized in revaluation surplus for that asset.



Y

(e) The Revaluation Surplus may be transferred directly to retained earnings
when the asset is derecognized. This may involve transferring the whole of the
surplus when the asset is retired or disposed of. Such transfer from
Revaluation Surplus to Retained Earnings cannot be made through the Profit
or Loss.

(f) Alternatively, where there is an upward revaluation, the excess depreciation on
account of such upward revaluation may be transferred from Revaluation
Surplus to Retained Earnings. Such transfer from Revaluation Surplus to
Retained Earnings cannot be made through the Profit or Loss.

[t may be pertinent to note that revaluation of Property, Plant and Equipment is an

accounting policy choice, and not mandatory under the accounting standards or

the Companies Act, 2013.



Revaluation

= jsae

owners' interests is subsequent Stetement of profit is subsequent
under the heading increase (Initially and loss decrease (Initially
of Revaluation Decrease) Increase)

recognised in the Statement of Decrease should be debited
Profit and loss to the extent that it directlly to owners' interests under
reverses a revaluation decrease of the heading of Revaluation surplus
the same asset previously to the extent of any credit balance
recognised in the Statement of existing in the Revaluation surplus
profit and loss in respect of that asset




Cr. 25000

Yy Revaluchon
/I SIS0 I surplus g‘skcoo ;w'

1vcvease -y E50000 5204

MV Revalalon  Time SMV - Revaluoljen  BS
550000 saypius Cr. Z 530000 sarp\us 530000
8S 550000 \ Dr. 20000
Revawuation - ISt Y]
of Titme 24,80,00:;% L«‘“‘Wﬁm -
Assrt Renareotion Wplus L0000
Pam S —
and By 24
Bs = \?:'0(\ AN N . ?&x
Decrage > £25.4000 / S0 —> PALAcCr. 25000
PaL A Dy = 2nd <. 8BS = SO0

= PaLMc Qr. 25000
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SPAN
\ ReNQI - SUrpiut Cr, 200
N 35— S20000
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QUESTION (lllustration - 12 - Page No. 5.27 ICAl Module)

A machine of cost X 12,00,000 is depreciated straight-line assuming 10 year working
life and zero residual value for three years. At the end of third year, the machine was

revalued upwards by X 60,000 the remaining useful life was reassessed at 9 years.

Required DeFmpa 12/00,000 M0

— & —_— i 120,000
Calculate depreciation for the fourth year @ Sum 10 |
Rosd = 8.4 6 - Dept For = h2o
—y 0 + 60,000 33“'8 Q0 x3
= 3,00,000 = *3/&0,000
, -. Valye @
— DepP = .00 =)0 = 12U 36L

= TN end of 3rd Yeor ~_
9 ™ S 4L



Difference between Tangible and Intangible Assets

Tangible Assets

Intangible Assets

These are assets that have a physical
substance i.e., they can be seen and touched,
held for use in the production or supply of
goods or services, for rental to others, or for
administrative purposes.

These are identifiable assets that do NOT
have a physical substance, held for use in
the production or supply of goods or
services, for rental to others, or for
administrative purposes.

Tangible Assets have a finite life based on
expected usage.

Intangible Assets have a finite life based on
contractual terms. In some cases, intangible
assets could also have an indefinite life e.g.
purchased goodwill.

Useful life is based on expected usage, with
no presumption laid down for the same.

Useful life of Intangible Assets is presumed

ot to exceed 10 years) unless evidence

exists to the contrary.

Y
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Tangible Assets

Intangible Assets

Tangible Assets are depreciated over the
useful life. In other words, writing off the
value of tangible assets on an annual basis is

Intangible Assets are amortised over the
useful life. In other words, writing off the
value of intangible assets on an annual basis

known as depreciation. is known as amortisation.
Examples include Property, Machinery, | Examples include software, streaming
Vehicles etc. rights, landing rights, trademarks, patents

etc.




vy’
>» |Amortisation V’

The concept of amortisation in case of intangible assets is similar to the concept of
depreciation in case of tangible assets. In other words, ‘depreciation of an intangible
asset’ is called AMORTISATION.

Amortisation can be defined as ‘the systematic allocation of the depreciable amount of

an intangible asset over its useful life’. Depreciable amount is the cost of an asset less
its residual value.

Useful life is either:

(a) the period of time over which an asset is expected to be used by the enterprise; or

(b) the number of production or similar units expected to be obtained from the asset
by the enterprise



Y

Residual value is the amount which an enterprise expects to obtain for an asset at the
end of its useful life after deducting the expected costs of disposal.

The depreciable amount of an intangible asset should be allocated on a systematic
basis over the best estimate of its useful life. Amortisation should commence when the

asset is available for use. It is presumed that the useful life of an intangible asset will
not exceed ten years from the date when the asset is available for use unless evidence

exists to the contrary. For instance, given the rapid changes in technology, computer
software and many other intangible assets are susceptible to technological
N N W= Therefore, it is likely that their useful life will be short. Similarly,

intangible assets with contractual rights for a period exceeding ten years, will be
amortised over such extended period rather than the presumed period of ten years




Y

Similar to depreciation, the amortisation method used should reflect the pattern in
which the asset's economic benefits are consumed by the enterprise. If that pattern
cannot be determined reliably, the straight-line method should be used. The
amortisation charge for each period should be recognised as an expense unless
permitted or required to be included in the carrying amount of another asset.
Given the nature of intangible assets, the residual value of an intangible asset should
be assumed to be zero unless:
(a) there is a commitment by a third party to purchase the asset at the end of its
useful life; or
(b) there is an active market for the asset and:
(i) residual value can be determined by reference to that market; and
(ii) it is probable that such a market will exist at the end of the asset's useful life.



Y

The amortisation period and the amortisation method should be reviewed at least at
each financial year end. If the expected useful life of the asset is significantly different
from previous estimates, the amortisation period should be changed accordingly. If
there has been a significant change in the expected pattern of economic benefits from
the asset, the amortisation method should be changed to reflect the changed pattern.



QUESTION (lllustration - 13 - Page No. 5.31 ICAl Module) ﬁ\/?:

Kumar R&D Co. registered a patent (the patent meets the criteria of an intangible
asset) on 1st July, 2021 developed at a cost of X 28,00,000 and spent X 2,00,000
towards legal fees and registration. The patent is granted for a period of 10 years. The
books are closed on 31st December every year. I

Required
Show the Patent Account and Amortisation Account for the year 2021 and 2022.
Tot. Ccost- = 280 +2L Amorfisotion =  30,00,000 O O
= 20L_ Xe - 1 E3.00,000

1Q PO



QUESTION (lllustration - 14 - Page No. 5.32 ICAl Module) “/7:

Prime Streaming Co. acquired the streaming rights of a movie for * 18,00,000 with the
contracted duration of the streaming period being 10 years. At the beginning of the
fourth year, based on the decline in viewership, Prime Streaming Co. decided to
stream the movie only for the next 5 years.

Required 18,00 Q00 o
. o i — ! 1NQ0O
Calculate amortisation for the fourth year. 10
Reviged — 126000 ©) 0 J 34car =  1800W K3
Armarh 5 AnQ rHsation
= £2,52.000 po © E34N
-- Vol ¢ Q‘,

&mm]ma Right = 900,00 ) $140.%0
- chGQ A






